



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BBA (Honours) 1st Semester Session: Autumn 2025

Registration #	Name	GEN-111					GEN-112					GEN-113					GEN-118					IRM-123					MGT364				
		Islamic Studies/Ethics					Functional English					Applications of Information and Communication Technologies (ICT)					Introduction to Psychology					Globalization & International Relations					International Business				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-25/M/01	Muhammad Touseef	65	C+	2.5	3	7.5	37	F	-	3	-	62	C	2.0	3	6.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5
IS/BBA/A-25/M/02	Sidra Aftab	75	B+	3.5	3	10.5	86	A	4.0	3	12.0	77	B+	3.5	3	10.5	80	A	4.0	3	12.0	81	A	4.0	3	12.0	76	B+	3.5	3	10.5
IS/BBA/A-25/M/03	Eman Shahid	75	B+	3.5	3	10.5	85	A	4.0	3	12.0	71	B	3.0	3	9.0	70	B	3.0	3	9.0	77	B+	3.5	3	10.5	82	A	4.0	3	12.0
IS/BBA/A-25/M/04	Muhammad Ismail	65	C+	2.5	3	7.5	39	F	-	3	-	36	F	-	3	-	27	F	-	3	-	50	D	1.5	3	4.5	66	C+	2.5	3	7.5
IS/BBA/A-25/M/05	Ayesha Latif	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	73	B	3.0	3	9.0	60	C	2.0	3	6.0	55	C	2.0	3	6.0	70	B	3.0	3	9.0
IS/BBA/A-25/M/06	Anees Fatima	70	B	3.0	3	9.0	55	C	2.0	3	6.0	55	C	2.0	3	6.0	66	C+	2.5	3	7.5	70	B	3.0	3	9.0	75	B+	3.5	3	10.5
IS/BBA/A-25/M/07	Rubab Younis	70	B	3.0	3	9.0	60	C	2.0	3	6.0	33	F	-	3	-	42	F	-	3	-	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5
IS/BBA/A-25/M/08	Hafiz Muhammad Hamza Shakee	12	F	-	3	-	9	F	-	3	-	-	F	-	3	-	30	F	-	3	-	50	D	1.5	3	4.5	16	F	-	3	-
IS/BBA/A-25/M/09	Maria Anwar	65	C+	2.5	3	7.5	60	C	2.0	3	6.0	70	B	3.0	3	9.0	80	A	4.0	3	12.0	71	B	3.0	3	9.0	70	B	3.0	3	9.0
IS/BBA/A-25/M/10	Sajjad Ahmed	60	C	2.0	3	6.0	38	F	-	3	-	55	C	2.0	3	6.0	39	F	-	3	-	50	D	1.5	3	4.5	60	C	2.0	3	6.0
IS/BBA/A-25/M/11	M Haris Naseem	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	62	C	2.0	3	6.0	42	F	-	3	-	55	C	2.0	3	6.0	60	C	2.0	3	6.0
IS/BBA/A-25/M/12	Ali Faraz	65	C+	2.5	3	7.5	80	A	4.0	3	12.0	73	B	3.0	3	9.0	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5
IS/BBA/A-25/M/13	Syed Farhad Ahmed Shah	56	C	2.0	3	6.0	72	B	3.0	3	9.0	67	C+	2.5	3	7.5	60	C	2.0	3	6.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5
IS/BBA/A-25/M/14	Ijaz Ghulam	61	C	2.0	3	6.0	37	F	-	3	-	67	C+	2.5	3	7.5	50	D	1.5	3	4.5	55	C	2.0	3	6.0	66	C+	2.5	3	7.5
IS/BBA/A-25/M/15	Hira Ali (Fee Defaulter)																														
IS/BBA/A-25/M/16	Rida Batool	66	C+	2.5	3	7.5	61	C	2.0	3	6.0	60	C	2.0	3	6.0	60	C	2.0	3	6.0	66	C+	2.5	3	7.5	70	B	3.0	3	9.0
IS/BBA/A-25/M/17	Mian Salman Shah	55	C	2.0	3	6.0	39	F	-	3	-	61	C	2.0	3	6.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5
IS/BBA/A-25/M/18	Asad Rehman	82	A	4.0	3	12.0	62	C	2.0	3	6.0	66	C+	2.5	3	7.5	55	C	2.0	3	6.0	59	C	2.0	3	6.0	75	B+	3.5	3	10.5
IS/BBA/A-25/M/19	Atta Ur Rehman	55	C	2.0	3	6.0	52	D	1.5	3	4.5	73	B	3.0	3	9.0	60	C	2.0	3	6.0	66	C+	2.5	3	7.5	71	B	3.0	3	9.0
IS/BBA/A-25/M/20	Minaa Hijab	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5	70	B	3.0	3	9.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	76	B+	3.5	3	10.5
IS/BBA/A-25/M/21	Mohsin Ibrahim	60	C	2.0	3	6.0	50	D	1.5	3	4.5	70	B	3.0	3	9.0	50	D	1.5	3	4.5	71	B	3.0	3	9.0	75	B+	3.5	3	10.5
IS/BBA/A-25/M/22	Abdul Mannan	70	B	3.0	3	9.0	70	B	3.0	3	9.0	71	B	3.0	3	9.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5
IS/BBA/A-25/M/23	Muhammad Haris Mughal	65	C+	2.5	3	7.5	80	A	4.0	3	12.0	70	B	3.0	3	9.0	60	C	2.0	3	6.0	75	B+	3.5	3	10.5	60	C	2.0	3	6.0
IS/BBA/A-25/M/24	Muhammad Huzaifa	65	C+	2.5	3	7.5	34	F	-	3	-	50	D	1.5	3	4.5	50	D	1.5	3	4.5	51	D	1.5	3	4.5	65	C+	2.5	3	7.5
IS/BBA/A-25/M/25	Umair Ali Butt	85	A	4.0	3	12.0	92	A	4.0	3	12.0	76	B+	3.5	3	10.5	89	A	4.0	3	12.0	91	A	4.0	3	12.0	87	A	4.0	3	12.0

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_ Checked By: \_\_\_\_\_ Rechecked By: \_\_\_\_\_

Asst. Controller of Exams                      Asst. Controller of Exams                      Controller of Exams

Result declaration date:



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 1st Semester Session: Autumn 2025

		GPA	Remarks
IS/BBA/A-25/M/01	Muhammad Touseef	1.83	Promoted
IS/BBA/A-25/M/02	Sidra Aftab	3.75	Promoted
IS/BBA/A-25/M/03	Eman Shahid	3.50	Promoted
IS/BBA/A-25/M/04	Muhammad Ismail	1.08	Promoted
IS/BBA/A-25/M/05	Ayesha Latif	2.67	Promoted
IS/BBA/A-25/M/06	Anees Fatima	2.67	Promoted
IS/BBA/A-25/M/07	Rubab Younis	1.83	Promoted
IS/BBA/A-25/M/08	Hafiz Muhammad Hamza Shakee	0.25	Promoted
IS/BBA/A-25/M/09	Maria Anwar	2.92	Promoted
IS/BBA/A-25/M/10	Sajjad Ahmed	1.25	Promoted
IS/BBA/A-25/M/11	M Haris Naseem	1.75	Promoted
IS/BBA/A-25/M/12	Ali Faraz	3.00	Promoted
IS/BBA/A-25/M/13	Syed Farhad Ahmed Shah	2.75	Promoted
IS/BBA/A-25/M/14	Ijaz Ghulam	1.75	Promoted
IS/BBA/A-25/M/15	Hira Ali (Fee Defaulter)	3.58	Promoted
IS/BBA/A-25/M/16	Rida Batool	2.33	Promoted
IS/BBA/A-25/M/17	Mian Salman Shah	1.75	Promoted
IS/BBA/A-25/M/18	Asad Rehman	2.67	Promoted
IS/BBA/A-25/M/19	Atta Ur Rehman	2.33	Promoted
IS/BBA/A-25/M/20	Minaa Hijab	3.25	Promoted
IS/BBA/A-25/M/21	Mohsin Ibrahim	2.42	Promoted
IS/BBA/A-25/M/22	Abdul Mannan	3.25	Promoted
IS/BBA/A-25/M/23	Muhammad Haris Mughal	2.83	Promoted
IS/BBA/A-25/M/24	Muhammad Huzaifa	1.58	Promoted
IS/BBA/A-25/M/25	Umair Ali Butt	3.92	Promoted

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Asst. Controller of Exams

Asst. Controller of Exams

Controller of Exams

Result declaration date:



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BBA (Honours) 1st Semester Session: Autumn 2025

Registration #	Name	GEN-111					GEN-112					GEN-113					GEN-118					IRM-123					MGT364				
		Islamic Studies/Ethics					Functional English					Applications of Information and Communication Technologies (ICT)					Introduction to Psychology					Globalization & International Relations					International Business				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-25/M/26	Abdul Jabbar Mahar	60	C	2.0	3	6.0	51	D	1.5	3	4.5	63	C	2.0	3	6.0	50	D	1.5	3	4.5	57	C	2.0	3	6.0	57	C	2.0	3	6.0
IS/BBA/A-25/M/27	Shahzaib Ahmed	82	A	4.0	3	12.0	62	C	2.0	3	6.0	70	B	3.0	3	9.0	55	C	2.0	3	6.0	40	F	-	3	-	65	C+	2.5	3	7.5
IS/BBA/A-25/M/28	Imtiaz Fida	55	C	2.0	3	6.0	40	F	-	3	-	42	F	-	3	-	50	D	1.5	3	4.5	33	F	-	3	-	55	C	2.0	3	6.0
IS/BBA/A-25/M/29	Raja Muneeb Ur Rehman	75	B+	3.5	3	10.5	61	C	2.0	3	6.0	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	55	C	2.0	3	6.0	70	B	3.0	3	9.0
IS/BBA/A-25/M/30	Syed Abbas Ali	70	B	3.0	3	9.0	43	F	-	3	-	66	C+	2.5	3	7.5	50	D	1.5	3	4.5	50	D	1.5	3	4.5	59	C	2.0	3	6.0
IS/BBA/A-25/M/31	Parsa Falak	70	B	3.0	3	9.0	70	B	3.0	3	9.0	76	B+	3.5	3	10.5	65	C+	2.5	3	7.5	59	C	2.0	3	6.0	75	B+	3.5	3	10.5
IS/BBA/A-25/M/32	Muhammad Adil Soomro	50	D	1.5	3	4.5	75	B+	3.5	3	10.5	52	D	1.5	3	4.5	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5
IS/BBA/A-25/M/33	Ahmad Ghazali	65	C+	2.5	3	7.5	30	F	-	3	-	58	C	2.0	3	6.0	37	F	-	3	-	56	C	2.0	3	6.0	61	C	2.0	3	6.0
IS/BBA/A-25/M/34	Muhammad Usman	14	F	-	3	-	24	F	-	3	-	29	F	-	3	-	-	F	-	3	-	11	F	-	3	-	20	F	-	3	-
IS/BBA/A-25/M/35	Muhammad Abdullah	70	B	3.0	3	9.0	85	A	4.0	3	12.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	76	B+	3.5	3	10.5	75	B+	3.5	3	10.5
IS/BBA/A-25/M/36	Hamid Mehmood	70	B	3.0	3	9.0	82	A	4.0	3	12.0	78	B+	3.5	3	10.5	82	A	4.0	3	12.0	84	A	4.0	3	12.0	80	A	4.0	3	12.0
IS/BBA/A-25/M/37	Muhammad Shahwaiz	75	B+	3.5	3	10.5	87	A	4.0	3	12.0	81	A	4.0	3	12.0	87	A	4.0	3	12.0	90	A	4.0	3	12.0	81	A	4.0	3	12.0
IS/BBA/A-25/M/38	Muntazir Mehdi	65	C+	2.5	3	7.5	46	F	-	3	-	50	D	1.5	3	4.5	50	D	1.5	3	4.5	42	F	-	3	-	60	C	2.0	3	6.0
IS/BBA/A-25/M/39	Sher Abbas	80	A	4.0	3	12.0	44	F	-	3	-	63	C	2.0	3	6.0	50	D	1.5	3	4.5	70	B	3.0	3	9.0	39	F	-	3	-
IS/BBA/A-25/M/40	Sawaira Touqeer	70	B	3.0	3	9.0	34	F	-	3	-	43	F	-	3	-	50	D	1.5	3	4.5	55	C	2.0	3	6.0	66	C+	2.5	3	7.5
IS/BBA/A-25/M/41	Maryam Touqeer	72	B	3.0	3	9.0	60	C	2.0	3	6.0	57	C	2.0	3	6.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	60	C	2.0	3	6.0
IS/BBA/A-25/M/42	Dipazeer Hassan	70	B	3.0	3	9.0	30	F	-	3	-	30	F	-	3	-	50	D	1.5	3	4.5	39	F	-	3	-	71	B	3.0	3	9.0
IS/BBA/A-25/M/43	Andleeb Abbasi	86	A	4.0	3	12.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	61	C	2.0	3	6.0	60	C	2.0	3	6.0	84	A	4.0	3	12.0
IS/BBA/A-25/M/44	Zakir Ali	55	C	2.0	3	6.0	23	F	-	3	-	55	C	2.0	3	6.0	39	F	-	3	-	43	F	-	3	-	50	D	1.5	3	4.5
IS/BBA/A-25/M/45	Sahil Kiani	55	C	2.0	3	6.0	37	F	-	3	-	27	F	-	3	-	60	C	2.0	3	6.0	31	F	-	3	-	66	C+	2.5	3	7.5
IS/BBA/A-25/M/46	Alishba Yousaf	80	A	4.0	3	12.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	56	C	2.0	3	6.0	42	F	-	3	-	65	C+	2.5	3	7.5
IS/BBA/A-25/M/47	Fatima Zaheer	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	72	B	3.0	3	9.0	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5
IS/BBA/A-25/M/48	Wahid Ali	62	C	2.0	3	6.0	60	C	2.0	3	6.0	60	C	2.0	3	6.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5
IS/BBA/A-25/M/49	Mohammad Adil	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5
IS/BBA/A-25/M/50	Qudrat Ullah	60	C	2.0	3	6.0	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	76	B+	3.5	3	10.5	71	B	3.0	3	9.0

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_ Checked By: \_\_\_\_\_ Rechecked By: \_\_\_\_\_

Asst. Controller of Exams                      Asst. Controller of Exams                      Controller of Exams

Result declaration date: \_\_\_\_\_



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 1st Semester Session: Autumn 2025

		GPA	Remarks
IS/BBA/A-25/M/26	Abdul Jabbar Mahar	1.83	Promoted
IS/BBA/A-25/M/27	Shahzaib Ahmed	2.25	Promoted
IS/BBA/A-25/M/28	Imtiaz Fida	0.92	Promoted
IS/BBA/A-25/M/29	Raja Muneeb Ur Rehman	2.83	Promoted
IS/BBA/A-25/M/30	Syed Abbas Ali	1.75	Promoted
IS/BBA/A-25/M/31	Parsa Falak	2.92	Promoted
IS/BBA/A-25/M/32	Muhammad Adil Soomro	2.25	Promoted
IS/BBA/A-25/M/33	Ahmad Ghazali	1.42	Promoted
IS/BBA/A-25/M/34	Muhammad Usman	0.00	Promoted
IS/BBA/A-25/M/35	Muhammad Abdullah	3.17	Promoted
IS/BBA/A-25/M/36	Hamid Mehmood	3.75	Promoted
IS/BBA/A-25/M/37	Muhammad Shahwaiz	3.92	Promoted
IS/BBA/A-25/M/38	Muntazir Mehdi	1.25	Promoted
IS/BBA/A-25/M/39	Sher Abbas	1.75	Promoted
IS/BBA/A-25/M/40	Sawaira Touqeer	1.50	Promoted
IS/BBA/A-25/M/41	Maryam Touqeer	2.33	Promoted
IS/BBA/A-25/M/42	Dipazeer Hassan	1.25	Promoted
IS/BBA/A-25/M/43	Andleeb Abbasi	3.17	Promoted
IS/BBA/A-25/M/44	Zakir Ali	0.92	Promoted
IS/BBA/A-25/M/45	Sahil Kiani	1.08	Promoted
IS/BBA/A-25/M/46	Alishba Yousaf	2.25	Promoted
IS/BBA/A-25/M/47	Fatima Zaheer	3.17	Promoted
IS/BBA/A-25/M/48	Wahid Ali	2.25	Promoted
IS/BBA/A-25/M/49	Mohammad Adil	2.50	Promoted
IS/BBA/A-25/M/50	Qudrat Ullah	3.00	Promoted

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Asst. Controller of Exams

Asst. Controller of Exams

Controller of Exams

Result declaration date:



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BBA (Honours) 1st Semester Session: Autumn 2025

Registration #	Name	GEN-111					GEN-112					GEN-113					GEN-118					IRM-123					MGT364				
		Islamic Studies/Ethics					Functional English					Applications of Information and Communication Technologies (ICT)					Introduction to Psychology					Globalization & International Relations					International Business				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-25/M/51	Muhammad Awais	67	C+	2.5	3	7.5	53	D	1.5	3	4.5	70	B	3.0	3	9.0	70	B	3.0	3	9.0	67	C+	2.5	3	7.5	65	C+	2.5	3	7.5
IS/BBA/A-25/M/52	Rifsh Rani	83	A	4.0	3	12.0	91	A	4.0	3	12.0	78	B+	3.5	3	10.5	88	A	4.0	3	12.0	90	A	4.0	3	12.0	91	A	4.0	3	12.0
IS/BBA/A-25/M/53	Suleman Haider	65	C+	2.5	3	7.5	60	C	2.0	3	6.0	65	C+	2.5	3	7.5	55	C	2.0	3	6.0	71	B	3.0	3	9.0	65	C+	2.5	3	7.5
IS/BBA/A-25/M/54	Muhammad Zeeshan Khan	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	34	F	-	3	-	50	D	1.5	3	4.5	52	D	1.5	3	4.5	60	C	2.0	3	6.0
IS/BBA/A-25/M/55	Rania Fareed	51	D	1.5	3	4.5	50	D	1.5	3	4.5	55	C	2.0	3	6.0	41	F	-	3	-	43	F	-	3	-	70	B	3.0	3	9.0
IS/BBA/A-25/M/57	Muhammad Ayaz (Fee Defaulter)																														
IS/BBA/A-25/M/58	Tayyab Shah (Fee Defaulter)																														
IS/BBA/A-25/M/59	Hashir Naeem	55	C	2.0	3	6.0	15	F	-	3	-	24	F	-	3	-	26	F	-	3	-	50	D	1.5	3	4.5	70	B	3.0	3	9.0
IS/BBA/A-25/M/60	Saad Mushtaq	55	C	2.0	3	6.0	37	F	-	3	-	56	C	2.0	3	6.0	-	F	-	3	-	-	F	-	3	-	55	C	2.0	3	6.0
IS/BBA/A-25/M/61	Shabbir Ahmad	60	C	2.0	3	6.0	53	D	1.5	3	4.5	55	C	2.0	3	6.0	55	C	2.0	3	6.0	50	D	1.5	3	4.5	70	B	3.0	3	9.0

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_ Checked By: \_\_\_\_\_ Rechecked By: \_\_\_\_\_

Asst. Controller of Exams                      Asst. Controller of Exams                      Controller of Exams

Result declaration date:



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 1st Semester Session: Autumn 2025

		GPA	Remarks
IS/BBA/A-25/M/51	Muhammad Awais	2.50	Promoted
IS/BBA/A-25/M/52	Rifsh Rani	3.92	Promoted
IS/BBA/A-25/M/53	Suleman Haider	2.42	Promoted
IS/BBA/A-25/M/54	Muhammad Zeeshan Khan	1.83	Promoted
IS/BBA/A-25/M/55	Rania Fareed	1.33	Promoted
IS/BBA/A-25/M/57	Muhammad Ayaz (Fee Defaulter)	1.00	Promoted
IS/BBA/A-25/M/58	Tayyab Shah (Fee Defaulter)	1.42	Promoted
IS/BBA/A-25/M/59	Hashir Naeem	1.08	Promoted
IS/BBA/A-25/M/60	Saad Mushtaq	1.00	Promoted
IS/BBA/A-25/M/61	Shabbir Ahmad	2.00	Promoted

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Asst. Controller of Exams

Asst. Controller of Exams

Controller of Exams

Result declaration date: